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Layla has black pants and pink pants. They always wear
pink pants OR they wear sandals. If they wear pink pants
and a green shirt, they don’t wear a bow tie. They never
wear pink pants unless they also wear a green shirt OR
sandals. If they wear sandals, they also wear a green
shirt. Yesterday, Layla wore a bow tie. What else did they
wear?

OR=V (logical or)

Solve using truth table and/or reasoning

OKZ \Dj\ao\\ g
P - P\V\\( \>am’rg

G\ = Qreen sk

S-= SO\V\AO\\S

B = bow T

Logic Page 2



C KiMMEC

? = ?\V\\L ?J\V\SYS | P \ S
o gen S D g G
S= SO\V\AU\\é ey D s (G\\} S>
/\6/, \oov\) )Y\Q_, L\ 3 s G‘
P AGT
VAN
P-F & =
L — .
:- 5 !
1S
3 L
. P
. &

Logic Page 3



< KiMMeL

’\7\/5 S oo
‘?/\GN’\? LS| B
P—»(QVS> =

> G
5

PA é\ S /EA\SQ

Logic Page 4



